Stralka,Mislove,J.D.Lawson,Carruth " Sc.mf{(ﬁ,{.a-ft s /
ﬂ*kﬂahu&t(kﬁhw!#)

MEQO on a letter from Klaus Keimel(March23 76)

.. . et magno cum murmure erumpiﬂnt

Vergil - ‘ i
' [As for the classicsl quotation .of the day, the

scene 18 a mouﬂain in which Neptune keeps nis

" winds confined which he is %o unieash. against
_ &eneas - by puncturing the side cf the mourtain

with his trident Whereupon .'. ( boveJ

Our scene is ATLAS (algebraic theory of. La' on semila es)VChapter z
Section e. Algebraic . characterisation of Lawson semilattices

Keimel- (with ‘his’ trident -in his hand) particularly‘contemplates

Corollary 2. 20 whic ays that a' latticd L carries s compact Tawson
topology 1ff - g . 3

(8) For each x &
% =sup J. -

1 there is a smallest latticelide 1 J such that

He then proceeds to consider (essentially) the(following example
1l inf
3 EXAMPIE (ICEIMEL) Part 1. Let L be the following subsemllattice of

:J;ﬁ?lof,the,square L= [(1,1),(0,1);(1- = ,0): n=1,2,...1%.

'5',Note that L 1s a complete lattice satisfying (8)

_ fBut ‘there 1is no way: to endow L with a compac
: Lawson topology xnxmﬂks e .

EXAMPLE Part 2. Let T be the compact subsemilattice of the square :
Thix glven by T = L.U {({1,0)). Then L = K(T) The inclusion functe
10" 3: K(T)—>T has a right adjoint c-T—-—)K('I‘) called the
compact elosure operator, since T is a dually ccmplete Z-object.

- (ATLAS ',Chapter 2, Secticn b.) Now let us look ab Pr0p031tion 2,14,
' |

The closure operatcr does not pzeserve infs~ z#ﬁ First observe that

e fixes all element of T and satisfies -c(l 0) =(1,18). Then j
c((O,l)_(l,O)) = 0(0,0) '.—_'(0:0)' + _(0371) ?EG(Q,I)](I.,].) = 0(0,1)0(1,0){
Thus ¢ violates 2.1% 4 (l) , hence also (é),sihce:(l)<=>(2) (there is
nothing wrong with that). But 2.1% (3) is evidently satisrfied

: J[(l 0) = min {¥& K(T): e(t) = {1,1)}]). - The is nothing‘wrong with

the conclusion {(2) => (3) in 2.1} .Iet us look at this a bit

more carefully. Iet g s———syr be the left adjoint cf d:T—5 between
complete.  lattices. Then -&{t{ = inf g~ (Tt) = min g~ (¢t) by ’
2.9 Suppose that g is surjective. Then

(*) EOEeedsy el (s) = 51 (f¢)

[Proof. C'is clear. et scg” (Tt) , then  g(s) > t3= but

;__.,_;t_ gd(t) (by 1. 12) mmmoﬁxgd but g(s) >t <=>5 > d(t) s

o

xmcsamxs and sd(t) =t , 50 prEmg & cl}g l(t) 5 ]







.you do not have to ad,jus’c your :Lntuition on

thé.se matters ;su‘bstantially‘ It is just ‘that- (8 d) does nob
L—-éb;jects among the complete 1attices.

— g

.‘cL and-suppose that - 1 has a bésis of. open ne:.ghborhooa
;0L 1 in T has; inner points. Then everyr inner point
< - :

nd‘ B Madisoz:,?erlpheral and. 1nne=" i

253-266 and find Theorem'3.4 on p.262. Use this to-
t {1ce. -apoint p‘i; 1) cannot -be inner.

.n of Proof.
- 69 (19703

on the. 1oca1 t:onnectivity“;ajb_ a ma‘s' ‘o'e di‘OpiJEG-
thkt. TS $ p.We

| es
&1 there “are pomts % ari]pt;'arily close to 1 such \
eif. withs X —:‘S-— X, T{%:x) = tx.”'For any. 3 Ghomo1ogy
: l )(.hj 28 _l.ocally consta:nt “Sinee W surroun(
wi‘th “g?(1)(n) # 0. Thus :
‘ Hn(f__,c—){ﬁ)*:[? ThiB N




